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Note: (i) Answers may be written either in
English or in Hindi; but the same
medium should be used throughout the
paper.
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results.
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Attempt any five quéstions.
All questions carry equal marks.
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How is GDP computed using the Value
Added Method ? Explain. '
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Differentiate between Private Income and
Income from Net Domestic Product to

Private Sector. : ‘ h 1‘%
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2. (a) Explain Keynes Psychological Law of
Consumption. Whatare the determinants of
propensity to consume ? 8

(b) Define and give the relationship between
marginal propensity to consume and
marginal propensity to save. 7
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3. (a What is multiplier ? What is the
relationship between marginal propensity to
consume and multiplier ? What conditions
are required for working of multiplier
analysis in the underdeveloped countries ? (10)

(b} Given C = 100 + 0.6 Y. What will be the
effect on income if investment increases
from T 100 crores to ¥ 200 crores ? 5
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How equilibrium of GDP is determined in a
four sector economy ? Explain with the
help of income Expenditure and Saving
Investment Approach.

. Calculate national income from the

following data :
C= 1_10+0.75 Yo (Y-T)
T =% 25 crore
G =% 130 crore
I=%170 crore

From the above calculate MPS and APC
when disposable income is T 1000 crore.
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5. (a) Distinguish between movement along the
aggregate demand curve and shifts in
aggregate demand curve. How can you

measure the slope of the AD curve ? 8

(b) Distinguish between inflationary gap and
- recessionary gap. 7
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6. (a) How do commercial banks create credit ?
What are the limitations of credlt creation
of commercml banks ? 8

{b) Distinguish between -fransactions , demand

for money and asset demand for money. 7
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What is product market equilibrium ?
Derive IS curve from the product market

1
equilibrium. 75
What do you mean by money market

equilibrium ? Derive LM curve from the

. 1
money market equilibrium. , T3
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Distinguish between Balance of Trade and

Balance of Payments. Under what
conditions Balance of Payments are in
disequilibrium 7 How can it be corrected ? 9

Write short notes on any two : 6

(i) Marginal Efficiency of Capital

(ii) Balanced Budget Multiplier
(iii) Money Muitiplier
(iv) Instruments of Monetary Policy

6
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